1. 28 children go
swimming in groups of
4. How many groups
will there be?

2. A shop sells
postcards in packs of
6. Kerrie bought some
packs of cards.
Altogether, she has 30
cards. How many packs
of 6 did she buy?

3. Write in the missing
number:

160 + =8

4. Each of these bags
contains £1.60. Each

bag contains only one
type of coin.

Complete this table to
show how many coins
are in each bag. One

has been done for you.

5. Plants are sold in
trays of 20.

Kayleigh wants 240
plants. How many trays
does she need to buy?

6. Here is a CD rack.

One rack holds 25 CDs.
Brodie has 83 CDs.
How many racks does
he need to hold all his
CDs?

7. Write in the missing
number:

Type of Number of
coin coins
1p 160
10p
20p

+4=-23

8. Calculate

56 - 4 =

9. Harvey has 85
football cards. He
shares them out
between himself and
his 4 friends. How
many cards do they
each get?

10. A coach holds 24
people.

58 people are going on
a school trip.

How many coaches will
they need?

11. 100 people were at
a BBQ. There were
300 sausages. How
many sausages could
they have each?




1. Calculate

84 +7-=

2. Warren has saved
£3.40 in 20p coins.
How many 20p coins
does Warren have?

3. Noah buys a pack of
24 cans of cola for

£6.00. What is the
cost of each can?

4. A builder needs
7600 bricks to build a
wall. There are 500
bricks in a load.

How many loads must
the builder buy?

The price of one load
of 500 bricks is £230.
What is the cost of
ohe brick?

B. Calculate

544 - 32

6. A box holds 6 eggs.

How many boxes are
needed to hold 52
eggs?

7. Write the answer

816 =24

8. Calculate

924 - 22

9. Eggs are put in trays
of 12.

The trays are packed
in boxes.

Each tray contains 180
eggs.

How many frays are in
each box?

10. A spoonful of cough
mixture is 5ml.

How many spoonful's
can you get from a
bottle of 375ml?

11. There are 28
children. They win a
school competition for
£140. How much do
they each get?




